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|
Examination Paper for Compassionate ground suitability test for Diploma (Civil) passed

candidates.
Time : 2 hours Date: 14.02.2025 Max. Mark -100

This paper has been divided into Section A (50 marks) and Section B (50 marks). Alll

question are compulsory. If there seems to be any ambiguity, please follow the English
version.
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Answer may be given in Hindi or English.

Marks of all questions are shown against each.

Section A @US A (50 3id)

Q.No. 1 (Objective Types) Total no of questions 50. Answer all Marks (1 x 50) =50
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1 Which test of the brick is done to check the presence of alkalis in the brick ?
{A) Crushing strength test ' '(B)'E,fflore scence test
£ Al

(C) Tap test E o = D) Drop-test

| = f L’ ¢ )r, b A “‘ Sy
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(@) vhe g e s (7) Sepeem o
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2 ‘ What

is the miaximum final setting time of ordinary Portland cement
{A) 600 minutes

(B) 300 minutes
(C) 450 minutes
i INfEFH qidets dhfe DT maximum

MR Jfey
o (31) 600 fFre @) 300?:;@11 B

(D) None of these

5 &) as0 f#}rc 1 ) 19 QB )
f 3 1 in under reinforced section, Steel & concrete reaches theijr permissible strength -
:, (A) At the same time ‘} (B) Concrete reaches first
(C) steel reaches first | (B) None of these
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In limit state Design, what is partial the féctor of safety for concrete?
(A) 1.5 ; (B) 2
(C) 3 i (D) None of the above
.mmmﬁmwmmmmmmma?
@) 1.5 @) 2
@) 3 () T & & et
. In limit state Design, what is the maximum peremissible compressive stress in concrete -
(A} 4 fek (B) .446 fck
(C) .5 fek

«(D) .87 fek

fek is the compressive slrtn;,th of concrete.

mmmﬁmmmmmmmma?

@) 4 fck (8) 446 fek
(8) .5 rek o () .87 fek

. In simply supported beam, where shear force is zero, the bending moment wil| be -
(A) Zero (B) maximum

(C) minimum (D) None of these

'mmﬁqﬁwmm‘lﬂiﬁm? a8l Bending moment T 'R ?
(@) I ‘(?')

(4) =g '(a')mm’ma

" Which of the following cement mass is used for concrete work?

(A) High Alumina cement (B) Quick setting cement

(C) Rapid hardening cement (D) Low heat cement
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KA GRUNIES (?) fams HfeT W
(@) e sefin Wi  (3) o de @
8  Among below, which type of soil is cohesive ? |
(A) sand . (B) clay
(C) both .~ (D) None of these
A PN @ A arfia ? ?
() ¥ | (%) o
(&) | () 30 & g E
9 The soil which consist of particles of similar size is called as —
(A) Poorly graded soil (B) Well graded soil

(C) Uniformly graded soil V(D') None of these

i

I

P s T @ ST S w8 ) R e € 7
@RIt | (@ e @ dhag
() v e 9 A Ao @) T o
10 The nominal size of modular brick is
{A) 190 mm x 90 mm x 80 mm (B) 190 mm x 90 mm x 90 mm

(C) 200 mm x 100 mm x 100 mm

Aiger faw &1 AT |ga & -

(D) 200 mm x 200 mm x 100 mm

@) 190l x 90l x sofE | (@) 190 AW x 100 AWl x o0 fiv)

< (4) 200 f4t x 100 Y x100 A | (<) 200 A x 200 fAsdl x100 )

| ; |
| . ‘
| 11 ] For testing compressive strength of cement, size of the cube is —

(A) 50 mm |
|

(B) 70.60 mm



- (D) 150 mm
(C) 100 mm ‘

?
e @) a3 B B RIY g P A A e 8

.60 f#Y
(e1) s0 E () 706
(9) 100 A \'(3) 150
12 The height of the rail for 52 Kg section is -
(A) 143 mm (B) 156 mm
(C) 172 mm (D) 129 mm
52 Kg o QR B gEe B & —
@) 143 fash | (@) 156 Y
(|) 172 s (@) 129 fash
13 The ratio of iateral strain to longitudinal strain within elastic limit is called as —
(A) Young’s modulus - (B) bulk modulus
(C) Modulus of rigidity (D) Poisson’s ratio
'amaawaﬁmaaa%tﬁﬁmmma%mmmg?
i .. | .
o (&) 778 Higerw | (%) qo sHigera
(®) Higera anm RREA (%) dgww Y
14 | The Indian standard code to be referred for “Plain and Reinforced concrete” a5 per BIS is
(A) IS 10500 (B) IS 456
(C) 1S 343 (D) IS 786
ﬁ.aré.w.a}aw“maﬁ?mmm%mmﬁawqmma_
(3 smEgE. 10800 + (3) AR, 456
(%) 3 g4 343 (<) amd.vw. 786

t - . J
15 The minimum residual free chlorine required to be present at the farthest eng shall be
(A) 0.05mg per litre

(B) 0.2mg per litre

|

|

; i

(C) 0.1 mg per litre i (D) 0.5 mg per litre
|
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(@) 0.05 fehum™ Wi eltex (@) 0.2 frehum ufr eftex

(&) 0.1 fchum ufy efex | (@) 0.5 fehum wfy efex

" The main ingredients of Portland cement are -

(A) Lime and alumina \ (B) Clay and alumina

(C) Lime and silica ‘ (D) Silica and alumina

(@) = AR T \ Xg) foat fiedt aiv Tegfin

| (2) fuferar 3R TogfAe

As per the standard of Quality for drinking water the PH value of the drinking water shall
be -

(A) 7.0

1 (B) Between 6.5-8.5
(C) Between 6.0-7.0 l

(D)'"ize’m}‘éen 7.0-8.0

fhﬁa#uﬁaﬁm%w%qﬁwvﬁ%qﬁmﬂwﬁomm

@) 7.0 “‘ ¥ A (H)ss—esa%éﬁa

(‘q’) 7.0-80 ® 919

At the junction of roof and parapet wall, a fillet of 75mm must be provided to prevent

leakage of water through the joint. The shape of this filled can be-

(A) Angular \
|
(C) Both A and B \

(B) Concave

(D) Convex

Bd R AR A TEH ®, Wie @ A | I @ REE @ e @ g s B @

U@ gefed! YaH @ SiF) ARy | §9 UG @1 AHiK B Wl € —

(a1) @iz OEELRE

(|) @ 3 ¢ QA (@) Sl




urs should not absorb water

i r for 24 ho
" A first class brick when immersed in cold wate

more than -

(B) 15%
(A) 10 % |
(C) 20% (D) 25%
IY oA BT
e W A B e B O IV el { 24 U T gaYT X@l T &
Jaaso A it T HeT AMBY—
(31) 10 % (3[)15%
- (|) 20% () 25%

|
l

As per the Standard of quality for drinking water the permissible limit for Total Dissolved ‘5
~Solids in mg/l is -

(A) 250 (B) 500

|
(C) 1000 ; (D) 2000

IR B T B R rEcR @ qe @ argeR e/ s § e g o gart
B FTAG AT R -

(31) 250 () s00
(&)1000 (2) 2000
! Crushing strength of a first class brick should not be less than N/mm?
(A)3.5 (B) 10.5
(C) 7.5

| (D)125
|

U uIH AN & e A qor wfea e/’ & Bt B ey

[ +(3) 105 |
@) 75 ! @) 125 | ‘
The initial setting time |

se less than--..___
(A) 10 minutes

@) 35

for ordinary Portland cement as per 15 specifications should not

(B) 60 minutes

(€C) 30 minutes (D) 600 minutes



Z 24 In case of M20 concrete, the M20 refers to -

aEvd Fdel @ uR WERY Nidave diie @ fag aRfATE THIE 9 J
&9 E! B ARy —
| (@) 10 faee (@) 60 e
|
. (8) 30 e | () 600 e

23 Inthe grade of concrete “M 30”, the “M” refers to —

(A) Min. (B) Max.

|
(C) Mix I‘ (D) None of above
l

FBE “M30”, D Ve A “M” BT ek B
@) | ] @
. (@) fraw (@) 7 & B T

|

(A) A concrete Mix of compressive [ (B) A concrete Mix of Shear strength 20

strength 20 N/mm? after 7 days ‘N/mm’
P<iea il After 7 days
(C) A concrete Mix of, Shear ' (D} A contrete Mix of compressive strength

strength 20 N/mm’ After 14‘| =" ZON/mmZAfter 28 days

r

days

M0 FET B TEA F M20 iﬁ:ﬁaﬁm%—'

@) 7 A @& a= 20t/ @) 7 R B A 200 /Y srgequ
e arrRd &1 wae Ao - ARt &1 dele Am

(@) 14 feAf & «@g 2007/ @) 28 Rt @ w1 200 /fAY e
| JqEYYT ArRY &1 dae s et &1 dale AT

25  The device used for measuring the thickness of paint is —

(A) Elcometer | (B) Vernier calliper
(C) Filmometer i (D) Ultrameter

‘ |

O @ AIeE A @ g uged sumwer @ -
(37) Teariex (@) affR Bfear

(@) freieR | @) s
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‘ded in -
Weep ho.lcs are provided in (B) Abutments
(A) Piers
| ions
(C) Girders - (D) Foundati
div B e fRd o € -
(@) R A (@) v A
i
o (W) TR A t (g) At &
Le-Chatelier’s device for the determination of -
(A) Setting time of cement "‘ (B) Soundness of cement
|
{C} Tensile strength of cement “ (D) Compressive strength of cement
o mwmmrmmmma—
() drie oW1 & TH &I \ (@) dic o fawgwar &1
(@) e & aar afdd & ‘. (@) nfe o wdteaelia ofd &1
Which of the following test is commonly used to measure the workability of concrete
mixture in the field -
(A) Vee-bee Test 1. (B) Compation factor test
(C) Slump test (D) Kelly Ball test
PrefafEg ¥ @ e Qe o1 ey ST wid W)/ 85 sele RS B
S & A9 & ferg far omar & —
(a1) &) o degor L (4) GO BRS G
- (7) g TdE () el T T
The Bearing capacity of a water logged soil can be improved by -
(A) Compacting the soil | (B) Increasing the depth of foundation
. 1
(C) Draining the soil { (D) Chemical treatment of water

'Wﬁﬁ‘ﬁmmﬁgﬂmﬁmé—

(@) Pt @) gesd a1 SN HU AaR {.(i)gﬁrumaﬁms‘w

(@) fred) & sgaed @ k (@) urft &1 TEEfe SUEAR B
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32 Strength of concrete increases with

33

The main principle of field surveying is to work from -
(A) Higher level to lower level ll (B) Lower level to higher level
|

(C) Whole of part (D) Part of whole

(@) F2 ®WR A e wR a@ \ (@) Froet "R Q ST wWR T
(@) R ¥ R @

What happens in Septic tank-

(A) Anaerobic Decomposition (B) Aerobic Decomposition

\
(C) Above of two \ (D) None of these
WE T A gare- |
@) TRRe RewsiE (@) Wi Rewichem
. (8) ST & 3k ¥

() ¥ ¥ 9

{
in fineness of cement

(A) Increase in water cement ratio

(C) Decrease in curing time - RS (D) Decreaée in size of aggregate

Concrete work is measured in

(A) Square meter

il (B) N/mm?
(C) Length ‘ (D) Cubic meter
TR T e ea— ? - |
1 (@) Fffex ¥ @ /e
- (8) g ¥ ‘

. (@) ' fier



34

35

36

37

5@ Wl D EN B Td R —

i t on
The frog of the brick in a brick masonary Is generally kep

face
(A) Bottom face (B) Top fa

(D) Longer side

|
1
|
(C) Shorter side 1
l

O B A I 1 — o <@l S 2|
@) o g @) A g
(%) &9 o ured () e ord ured
Minimum pitch of the rivet should not be less-
(A)1.5d | (B)2.0d
(c) 2.5d () 3.0d

Rde &1 R Afm P o9 98 8T wfee—

(@) 15 d @) 20 d

(®) 25d ' (@ 3.0d

“in a cantilever of length L, there is uniformly distributed load of load UDL w. then the

maximum shear force at the fixed end will be —

(A) wL’/8 . (B) wL?/2
(C) wL L (E) w2
AR o LF af2 upLw A B O Prade e R AR v fsar B -
L @) wi/s (&) wi/2
(F) wl (a) wlL’
Hooks law states that stress and strain a‘re-
(A) Directly proportional (B) Culvilenearly related
(C) Inversely proportional (D) None of these

o (@) @ aruifde @ @) &1 ey 9@y @

(®) S g & | @) T Q@ P

10



38  The property of a material which allows it to be drawn into a smaller section is called

(A) Plasticity

(C) elasticity

(B) Ductility

| (D) malleability

weRae B A et R 9 B e A g1 o

(@) e
(®) sonReRid)
39 The ceiling height of a building is -
(A) Between ceiling and ground level

(C) Upto roof above ground level

|

(B) Between ceiling and floor level

(D) Upto ceiling from the ground level

e N TIRT A ORI A B B R

(@) vd ik w9 @ d=
() 'R Y SR @ B @

' 40 . Fuli form of NBC

/ P
{A) National building Committee :

(C) National Building Cor;;§ '
- Tcdodo BT G - |
(@) e RRRT o3
(6) T Heq PR
a1 Leveling deals with measurement in

(A) Horizontal plane

(C) Both Horizontal and vertical

|
|

‘ (B)' National Building Code
l (D) Nat’ionél Board Certification

}

. (@) I fRfesT e
(?) I Ay

(B) Vertical plane

(D) Inclined plane

Pt & & e Ao W QR @1 e e

| 7((31) &G et
o (%) &R vd Seafur dor @i
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| is about
' The volume (cum) of bag of cements s a
(A) 0.035 cum | (B) 0.053 cum

(C) 0.35 cum (D) 0.53 cum
die & e 3 A AE (GFheR) amT B -
\(¥) 0,035 gFMER ‘l () 0.053 BHICY
(W) 0.35 gHier |

(g) 0.53 BTN

(n cantilever beam, where is the maximum bending moment -
(A) At support ( (B) At Center
|

(C) At free end (D) None of these

dfeefar 9 § A e Adie et ar B
o @) W ) | (@) 77 W)

Y v y7s 1o
Nl QU WR QR

(@) 379 & g 5
J

A plate ioad test is used to determine
(A) Settlement of foundations ( N (B) Bearmg capacity of soil
(C) Both (A) and (B) (D) None of these
UF T oS TR BT SUHNT Be e

(a)gmx%sr—:%ééaﬁ% as‘ramaw#! « (@) g B RaRT & 5w
o 1 J |
&) @) ek (@ @) 3 QB
|
Why DPC provided-

(A} To stop the dampness upward ’ (B) To increase dampness
side ’
(C) Increase the strength of wall , (D) None of these

S @i faan anar A

() ST B HW WY N Awy B (4) 39 &) 7@ @ Ry
for |

s A RWARID @ BB (o) g o oy

)
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a6 For drainage pipes in building the test applied before putting them to use is —

(A) Water test ’ (B) Smoke test

(C) Straightness test (D) All of the above

RRET @ $AW UEW @ WA B @ Uge B W1 < fhar S 2
(3) T SR (@) ¥® <
¢ (@) e @ 2w () SwR &

47 Gauge is the distance between —

(A) Center to Center of rails (B) Running faces of rails

(C) Outer faces of rails (D) None of these

e @Y g Bl B
L (@) X D N W A | (a)ia%vﬁw%v?.ﬁaﬁaaﬁ
(6) X & A< BY D &1 D J @) 37 & P13 eI

48 In simply supported beam of Length L, if a point Ioéd of W is at the centre than
' maximum bending moment will be-

(A) WL/2 ’ B)WL -
(C) WL/8 L (ywua
fﬁwﬁﬂﬁé@mﬁmtff"ﬁawqﬁeaﬁsw B af aIfd@man e Al BT
g BRIT —
A (@) w2 e@w
(@) wu/s ' @) wi/a
49 What is slenderness ratio for short colur‘nn-
(A) 12 (B) >12
(C) <12 | (D) None of above
e FTer @1 Ricievd U & - |
(&) 12 @) >12
|
‘ l .
(%) <12 IR R

[
|

13



50 Specific gravity has a unit -

(A) g/cc

(C) N/m’
e wE B 5o 2
(@) g/ec

(&) N/m’

(B) Kg/m’

(D) No unit — dimensionless

'+ (3) Kg/m’
(<) $IE gbIg el - dimensionless



Section B @ug B (50 37m)

Q.No. 2 (Objective Types) Total no of questions 50. Answer all Marks (1x50) = 50

o L]
T
o |
‘51 | ARG HY @) AT gy
. (&) TR AR A R (@ RA A R
(0) =D faR & R @) SR & @ 1 7
52 'mwwmﬁmﬁmw_maﬁﬁ?
@) 15 ‘il(il)zo
@) 10 f.@)mamaﬁ
53 fﬁmﬁﬁaaﬁﬁﬁﬁwma%mwmﬁﬁwa%mmﬂﬁ%?
(31) TIorm i (@) #ERTS;
(\) die _ 1' (@) SR B T
i (O
54 "ﬁiﬁufaﬁﬂﬂﬁf%f%mam?? Nt S T
(81) WRa & gl oz S "(a)m
(|) wurEh ’ f ?(?:);vm

55 ARG ¥ B Raw o9 79 wrar 2

@) 14 e @21
i
' & (|) 21 feyeram ; (]) 14 TR
6 kﬁ%uma%ﬁmmﬁmﬂméwmé?
(@) a1y (@) W 1s
| |
(|) s 1 - @) A A
ey | XISTHINT R e i gam e ?
(31) 1975 [ (@) 1976

() 1977 () 1978
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@) v R N Us AR (@) 4 WEH W UP AR
(®) 3 7R A y# IR (&) 2 787 ¥ tp AR
59 RY T v &1 e g9 — "I
/ (&) T @)
(6) gan @) ga

60 I’ U] & wulgar) weq &1 W B

(&) gy @R

() Fs @ e e
61 R TN T TR BT AT Y — !

) T TR

(@) et f (@) W

62 Wﬁﬁwﬁmmmﬁm'ﬁ%maﬁvm TR &1 aef e
ST & —

(8) s@rg 2= () e @ P avg e
63 ﬁvmaﬁamﬁwrmﬁmﬁaﬁéaﬁ%l
3% 8 &0 3 & ufed 371 amER B ¥

(1) e wher & | @) uf

(¥) gaa & ’! o(2) Rt 291 @)

64 fey ny arawer & fore va we fiy |
I A gHA arelr

(31) Al e (q) fremer

A (<) @rex

65 Ry M aawie @ Ry vw w1 g
T 3@ A @Y
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(@) <A (@) wirri
() s @ v

| Select the most appropriate option to fill in the blank-
' Wheat is widely but the output is not large.
' (A)increased (B) grilled

(C) grown e (D) Putup

Seleet the alternative which best express the meaning of the follow ing —
“A blind sopt™

(A) A person who is blind * (B) An area in your range of vision
that you canot see properly
(€) A person with no emotional feeling (D) A situation where no progress is

‘ made

Find the correct antonym of underlined word
Akash has a gruff voice
(A) rougher «(B) rough

(C) mild ‘ ‘( (D) gradual

| = y TS 1 o
Find the correet antonym of the underline world i
- T'he pallava rule came to an abruptend - =~

1

(A) harsh [0 | (B)sudden
1€) slow ) ‘.‘ o Y/ o (.b) gjradual
| Syvnonym for Obstinaie- | |
(A) stubbern ' (B) hard

o (C) mild (D) none of these

Nidhi would have reached Lucknow by this time. This is which class of tense

v (A) present perfect (B) past perfect

(C) future perfect | (D) simple past
Seleci . approprigte phrasal verd from the
compicte the sentenee

VY Ten candidages

J (A) turned up

given eptions to fill the blank space and

for the interview™
| (B) turned down

17
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73

75

77 Interms of area, whih is the largest state of India

. Which is the hig

78

(C) turned over

Choosc the ine

{A) Locker

(C) Nation

Scleet the most appropriate antonym of the given word- Vis

(A) Grim

(C) Watery

orrecty spelt word

|

(D) turne out

(B) Stock

o (D) Nateve

cous
§ (B} Brutal

J
o (D) Thick
| ,

Seiect ihe apnropriate option to fill in the blank-

They are my ---

{A) Children

. {C) Children’s

| (B) Chiidren of

E (D) Childrens
|

- What is the capital cf the Union Territory Lakshadweep
{A} Port Blair

(C) Havelock Island

Fvg IHT USY FHEIT DY ST T B 7

@) 9 =R
(@) qad® g9 W5

(A) Uttar Pradesh

(C) Maharas

2I5d & REW @ TNd BT GaY 91 Uog B 91 & ?

htra

(31) IR Ja¥

() AR

(A) Nanda Devi

hest mountain peak in India

18

|
|

(B) Kavaratti

- (D) Male

- (@) FErd
! () =t

{B) %ajasthan

! (D) None of these
|

v (@) o

@ A @

(B) Hardol
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82 |

79

80

81

@

(D) Kanchenjunga

m‘ﬁ&}éﬁaﬁﬁﬁi’?

(@) =T 3@ (@) R
y

() P + (<) oo
: Which is thee largest continent of the world

(A) Africa ' (B) Asia

(C) Europe }f (D) Australia
YT BT W v W A 7

(@) + (%) TRmn

() IR () smeferar

The largest Ocean is the world s ~---—.__

(A) Atiantic Ocean (B) Indian Ocean

(C) Pacific Ocean il N ,' (D) Arbian Ocean
’f \ -

fg‘ﬁmmw@wmaﬂﬂmé?lr S
(@reaifes ) (@) R= wermr
_ IO o= .
- (9) weria TeFrR 7 (R) e HETRR
. oy -
- Lala Lajpat Rai was also knbown as..
(A) Shan-e- Bengal / (B) Sher-e- Punjab
(C) Sher-e- Kashmir fl’ (D) Maharasthra Gaurav
T He19 1Y @) 3R e A T I o1 —
* @)ari—v-gre | @) N o
(|) N HeR {[ () TenTg e
; Where is the Headyuarter of International Monetary Fund (IMF) located.
| (A) Geneva | (B) Rome
(C) Pris | (D) Washington DC

SIS Rty ARy (CTETATE) @ g@miﬁ‘f Rere & 2

19



~(C) Trishul

(@1) =1 _d
(@) Py

79 Which is thee largest continent of the world

(A) Africa

(C) Europe

va &1 w1 AR B w1 27
@)@t

(¥)

80 The largest Ocean is the world is ---------
(A) Atlantic Ocean

(C) Pacific Ocean

(@predifes AErRRR

L

i _ _ k ,.’,’,. . { =,

g &1 Hee geT Wfﬂ? :a!Tgv
SRY) SR
\ T o |

v

81 Lala Lajpat Rai was also knbown as........... 2

(A) Shan-e-Bengal

(C) Sher-e- Kashmir

ARG A G99 S udd DA B @ ?

(D) Kanchenjunga

L ot
i
~
N 3

i‘\

(B) Asia

(D) Australia

(@) TR
() smesferan

(B) Indian Ocean

.‘(Q) Arbian Ocean

(B) Sher-e- Punjab

(D) Maharasthra Gaurav

AT AT X B IR fHE AW A WA St o —

& (3N

(|) N HER

(@) IR 99N
(g) wERTS; TRa

82 . Where is the Headquarter of International Monetary Fund (IMF) located.

(A) Geneva

(C) Pris

19

(B) Rome

(D) Washington DC

| sl e PR (o) @ e wel R & ?



* @S
(@) ¥Rw

(a) I
(@) @fPres oo

83 When was the first passenger Railway line opened in India-

(A) 1857  (B) 1853
(C) 1848 | (D) 1860
| ART W UEel W Wie we @ T off
(31)1857 o (9) 1853
1 .
(|) 1848 | (3) TRFTeT oo
84 Which is the longest dam in India? | o -
(A) Tehri dam

{C) Hirakund dam ‘I
|

RS BT GO =T ST B G 7 o
@RS 3 | @) et W

[
() e @

85  Whois the Minister of kﬁafmay at present ?
(A) Shri Ashwini Vaishnaw

i
|
(C) Shri Nitin Gaddkari f

(B) Narmada Sagar dam

(D) Bhakra nangal dam

» () W@ s 9y

(B) Smt. Nirmala Sitharaman

(D) Shri Amit Shah
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86 WhCI’(’IS ’l]z;{lo‘r\;ﬁlanlm;um' located ? B

(A) Ahmedabad

(C) New Delhi
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(B) Lucknow

(D) Chennai
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g7 Which dance from is originated in the sl‘lt‘L ‘Gujrat’’ . '
| ‘ (B) Kuchipudi

‘ (A) Bihu )
(D) Garba

" (C) Kathkali !
|
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. 88 " Which is the World’s tallest statue?

(A) Statue of Unity, Gujrat, India (B) Statue of Liberty, New Yark,USA

{C) Spring Temple Buddha, Henan, China 1 (D) Statue of Eqality, Hydrabad,
: India
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83 Name the game associated with the D‘uru-nd'(fup\ e . '
(A) Cricket i | {B)Footbal
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(@)fpae @) gead
(|) st '(g) arelars
:,'u_h—\—rc_d‘\rsc‘,\_ﬂu(h is the smallest cm?rTlry in the world - .
(A) Vatican City l (B) Monaco
|
(C) Naaru ‘ (D) Tuwalu
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91  Vealume of sphere of vadius 10 em s
2 Sphere T3E@ Brour 10 W0 2, w1 a1 aa gy ?
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524 cubic em (13) 1572 cubic ¢m
(A)S524 cubic ¢

) 4189 cubic em ‘ (D)None of these
(C)4189 cubic I 7}
! Approximate number of liters in once gallon cach-

U A A T e shiex Blar @

(\)2.54  +(B)3.78
(C)4.54 (10)5.52

A (a+h)’=

‘ o(A)attpty 3ab(ath) (B)a’+2ab+h’
('(')u:i-lf+3uh(_a4 i) (DYNone of above

If radius of acirele is r then area of the semicirele will he-
_mMﬁﬁ%r%aﬁmmwrmﬁw BRI ?
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«(C)mr2 ‘ (D)Nonc of above
I

Average Age of 6 boys is 12 years. The average age of 4 othe
2rerage apge of all 10 boys. ’

r boys is 18 vears. Find the

sag_-;as‘.*aﬁmaang 123&%14%@&%@136&%1%106@
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(A)14.4 7§ ’ (B) 15 q§
Vs g ad ; (D) 16 7
' Wiat is the value of 3% of 250 ? |
250 BT 3 WIS Fi Ay gy g ?
(A)V750 ; (3)75
(075 : (1)0.75

Sguare of (i B) - square of (A-B) = »

(A)2(Square of A + Squre of 13)

2(A &7 gif 4 B &1 qf) 2A BT it - 3@y )
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IS 1S meter and ity diagonal is 17 meger,

o (D) 4AL

Onc of the side ol a rectanouly ) {ie
arca of the field
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| (B) 2(Square of A Sgure of i3)

Find the
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(A) 10 Square Meter/100 iR ‘ (B) 120 Square Meter/120 TR

|

; ‘1 (C) 140 Square Meter/140 Tifier (D) 150 SquareyMeter/150 Fiffrer

‘. . i

199 | The train has travelled a distance of 24 Kms in "16 minutes duration? What is the
average speed of the train in meters per second ?

;’a%mﬁwaaﬁmffuﬁﬁﬂvhaaﬂa;&maﬁﬁ?tﬂauﬁmﬁiaaﬁ

v wifer & @7
(A} 2.5 meter per second/ 2.5 Hex wfa ‘\‘ (B) 15 meter per second/ 15 AR
{325 meter per second/ 25 Aex ufa \ (D) 150 meter per second/ 150 Hrex
LGS | gy davs
\

100 1 2% of v is 100 and vV of z is 200, find the relation between x and 72?2

TRy @ % 100 R SR 2 HT %2008, A X 3R 7 &1 Gy ST DHifeg—
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L (A)7=05x P 3 ‘ 0 (B) Z=2x
(C) 7=4x P NG (1)
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